EXGAT RT7Ta—-

OfEH#X (1[EAB)
H SM2ETH21H (K) 1485~ 1 5KF
= a— e T A5 AR —L EHEHTFASLET14—1)

OfEHH#X (2[EA)
H SM2ETH21H (k) 1 8KF~1 9KF
= e e T A5 AR —L EHHTFASLET14—1)

O FHih X
H B SF2HET7TH20H (A) 1 08F~1 1Hf
2 ¥ ZEEAREEET KEE=E GJFhZETKEL1 7 —-45)

ORE#iih X
H SR2HT7TH20H (H) 1 4K~1 5K
= % B EARFEBAT B RaiE=E (REFHAIL11—-14)

Ofm’EtthX
H W SR2ETH21H (k) 1 0FR~1 1K
2 Y P EREaE X — KEE=E BELIhAKKIT1I THE2—-25)

O MHX
H K SR2ETH27TH (H) 1 0R~1 18K
= Y BEARITE BIfE KESE=E GETNHRIT1ITHT7—42)

OFFh X
= FR2ETH27TH (H) 14F~1 5K
2 Y NEEARFEBTT KeE=E EHE/ETEHRTITELIO0L)

OF 74> (1[EHH)
= SR2ETH220 (k) 93049 ~10F3 0%

O#A >34 (2EHE)
= SR2ETH22H (k) 1 8KE304~19KE3 0%

KA TN HHHEIT, ZoomZFHALTEEL 1,



